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Midterm
Each problem has 20 points.

All algorithm should be described in English, bullet-by-bullet
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4. Consider an unweighted graph G shown below .
step of DFS along with

if the graph is not connected (no proof is necessary)?
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a. Starting from vertex 4, show every
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' Con51d§:r a binary tree (it is not necessarily balanced). The tree is not rooted. Its
diameter is the dig

o 0 tance between two vertices that are furthest from each other (distance is
easure Oy the number of edges in a simple path). Design a linear time algorithm that
finds the diameter of 5 binary tree, }
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